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fiF 145906 % 111 M =TH 5 &% 11 =2
it 148906 % H15 MR =TH 5 & 6 2
fitF4R906 %5 (101%5)  |MFRW\=TH 5 & 6 - 101 =
48906815 (1027%)  [HFFRE=TH 5 & 6 - 102 %
48906 % HI5(103%)  [HFFRE=TH 5 & 6 - 103 %
MFI8906 %15 (1047%)  [FFFRE=TH 5 & 6 - 104 =
48906 % HI5(1067%)  [FFFRE=TH 5 & 6 - 106
MFI%906%F#I5(1077%) IR =TH 5 & 6 - 107 %
i 748906 % H1i8 MR =TH 5 % 18 =
it 748906 & H110 MR =TH 5 &F 22 =
7489067 11 1 MFRE=TH 5 & 26 2
148906 % 1113 MR =TH 5 & 24 2
748906 % 1114 MFEE=TH 7 % 13 Za
AF1-48906 & 115 MR =TH 7% 11 =2
it 748906 % H116 MrRIE=TH 7 % 15 2
it 748906 % #120 MR =TH 7% 5 =
it 148906 % H121 MR =TH 7% 6 =
it 748906 & H122 MR =TH 7% 7 =
it 748906 H123 MR =TH 7% 9 =2
14890 7% Hid M =TH 10 & 2 =2
148907 % H15 MFRE=TH 10 & 46 2
148907 % H M4 =TH 10 F 3 22
74891 3% i1 MR =TH 7% 19 =
74891 3% i1 M =TH 7% 19 - 102 &
74891 3% i1 M =TH 7% 19 - 103 &
fitF4R913% M1 (201%5)  |MFRW\=TH 7 & 19 - 201 =
fiF4R913% M1 (202%5) MR\ =TH 7 & 19 - 202 %=
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48913711 (203%5) MR\ =TH 7 & 19 - 203 =
it 14891 3% H12 M =TH 7 % 18 2
it 7489 14% H16 MFRE=TH 8 & 25 2
7489147 H18 MHEE=TH 8 %F 28 Z2
- 7-48914% H19 MR =TH 8 #F 29 22
748914 % 11 Mr4E=TH 8 F 31 2
7489143 112 MR =TH 10 & 37 2
7489147 113 MU =TH 10 & 36 =
it 7489147 114 MU =TH 10 & 39 =
it 7489147 #1115 MFEE=TH 10 % 38 =
489147 117 MFRE=TH 10 & 45 =
74891471118 M4 =TH 10 & 43 =
MFF-4R91 5% H12 MFEE=TH 8 %F 21 Za
74891 5% H13 M4 =TH 8 #F 23 =
74891 5% Hi4 MR =TH 8 & 24 2
74891 5% H15 MR =TH 8 F 20 2
it 1-4%916F i1 MR =TH 3 & 10 =
it 148916 % H2 M =TH 3% 8 =
it 148916 % H13 MR =TH 3 & 7 =2
it 14891 6% Hid MR =TH 3 & 6 =2
748916 % H15 MFRE=TH 3% 5 2
M F-IR916 % H16 MPEE=TH 3% 4 2
7489165 H18 MR =TH 2®& 7 =
748916 % H19 MrRE=TH 2%& 6 5
it 7489167 #1110 MR =TH 2% 4 =
fit 748916 & #1111 MR =TH 2% 13 =
it 748916 % #1112 MR =TH 2% 3 =
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it 7489167 H113 M =TH 2% 14 =2
it 7489167 H114 MR =TH 2 & 2 2
7489168 #1115 MrRE=TH 2 % 16 2
489167118 Mr&E=TH 1% 3 =
7489167 H119 M =TH 1% 4 e
it 748916 #120 MrRE=TH 1% 5 e
74891 9% H15 MrRE=TH 2 % 12 2
74891 9% H16 MrRE=TH 2% 11 2
it 7-48919%& 7 MrE=TH 3% 11 =
it 14891 9% Hi8 MR =TH 3 & 12 =
7489207 15 fitrd —TH 3 3% 3 2
it 7-48920% H16 M40 —TH 3% 5 2
- 7-48920%: H17 M40 —TH 3% 6 2
7489207 H18 M40 _TH 3%& 7 =
fF7-4%920% H19 M _"TH 3% 8 2
it 7489207 #1110 MR -"TH 3% 9 2
it 48920 % 111 MU —TH 4% 28 =
it 7489207 113 M40 " TH 4 % 26 =
it 7489207 1114 M40 T H 4 3% 24 =2
it 7489207 H115 M40 —TH 4 % 23 =2
it 7-48920% H116 MFRE-TH 4% 9 2
i 7489207 1117 M40 —TH 4% 12 =
it 7489207 1118 Mr®RE_TH 4% 13 2
At 748920 % 119 M40 " TH 4% 20 =
it 7489207 #120 MR Z"TH 4% 19 5
it 148921 % H13 M0 " TH 4% 39 =
it 148921 % Hi4 M40 —TH 4 % 38 =
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it 148921 % H15 M40 —TH 4 % 37 =
it 148921 % H16 M40 —TH 4 %F 36 2
748921 % 17 M40 —TH 4 % 35 2
7489215 H18 M40 —TH 4 3% 34 =
7489215 H19 M40 _"TH 4 %F 33 22
it 7489213 #1110 M4E_"TH 4 F 32 2
748923 % H15 Mr4E—"TH 3% 13 2
it 748923 % H16 MR —"TH 3% 12 2
it 748923 % 7 MrE"TH 3% 11 =
it 148923 % H18 M4 —TH 3% 10 =
45924 % H12 MF&RE_TH 4% 8 =
748924 % H13 M40 —TH 4% 7 =
748924 % H15 M40 " TH 4% 5 =
748924 % H16 M _"TH 4% 4 =
748924 % 17 MR _"TH 4% 3 2
it 7-48925% 13 MR -"TH 3% 17 2
it 1-48925% M4 M —"TH 3% 16 =
it 1-48925% 15 M40 —TH 3% 15 =
it 148926 % H15 M4 —TH 1% 31 =2
it 14892 7% Hi2 M —TH 2% 1 =2
it 748928 % ;i1 MrRE-TH 2% 9 =
748928 % H12 M4 —TH 2% 7 =
748928 % 13 M _"TH 2% 6 =
748928 % Hid M0 _"TH 2% 5 5
it 148928 % 15 MR "TH 2% 4 =
fit 148928 % 116 M —TH 2% 3 =
it 148928 % 18 MR —TH 1% 29 =
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it 148928 % H19 M40 —TH 1% 28 =2
fit 7489287 H110 M4 —TH 1 %F 27 5
it 748928 % 112 Mr&RE_TH 2 % 16 2
it 7459287 1113 M40 —TH 2% 17 =
it 7489287 115 MR _"TH 2% 19 22
it 745928 % 116 M4 _"TH 2% 20 2
it 7489287 1118 M "TH 2% 23 2
7489315 1 MU -"TH 1% 20 2
it 1-4%932%F i1 MU "TH 1% 9 =
it 1-48932%: 2 M4 —TH 1% 10 =
7489327 113 fitrd —TH 1 & 11 =
it 7-48932% Hi4 M40 —TH 1% 12 =
it 7-48932% H15 M40 —TH 1% 13 =
- 7-48932% 116 M4 _TH 1% 15 =
7489345 H13 MR _"TH 1% 1 2
i 1-48935%F i1 MR -"TH 1% 7 2
it 148936 % i1 MR =TH 1% 10 =
it 148936 % H12 MR =TH 1%& 7 =
it 148938 % i 1 MR =TH 1% 11 =2
it 148938 % 12 MR =TH 5 & 2 =2
748938 % 113 MFRE=TH 5 % 3 2
748938 % 14 MFEE=TH 5 % 4 2
748938 % H16 MR =TH 4 %F 10 2
748938 % 18 MrRE=TH 4% 9 5
it 748938 % H19 MR =TH 4 % 13 =
fit 7489387 H110 MR =TH 4% 16 =2
it 7489387 Hi11 MR =TH 4 & 17 =2
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fit 7489387 112 MR =TH 4% 18 =2
it 7489387 113 MR =TH 4 F 25 5
it 7489387 1114 MFRE=TH 4 % 23 2
it 489387 115 MR =TH 4 F 22 =
489387 117 MR =TH 4 F 20 22
7489508 i 1 M4 —TH 1% 31 2
748950 % H12 M —TH 1% 30 2
748950 H13 M —TH 1 %F 29 2
it 1489507 Hid M —TH 1 %F 27 =
it 148950 % H15 M —TH 1% 24 =
it 7489507 116 fitrd—TH 1 3% 23 2
748951 % H13 Mr&E—TH 2% 31 =
748951 % Hi4 M4 —TH 2% 30 =
748951 % H15 M4 —TH 2 F 29 =
748951 H16 M4 —TH 2 %F 28 2
148951 % 7 M40 —TH 2 %F 26 2
it 148951 % H1i8 M4 —TH 2 % 23 =
it 148951 % H19 M8 —TH 2% 14 =
it 7489517 #1110 M —TH 2% 15 =2
it 7489517 Hi11 M —TH 2% 16 =2
748951 %112 MrRE—TH 2 & 17 =
748951 % 113 M4 —TH 2 % 18 =
it 748951 1114 M4 —TH 2% 19 2
it 748951 % H116 Mru—TH 2 F 37 =
7489513 117 M —TH 2% 11 5
it 74895 17F #1118 M —TH 2% 10 =2
it 74895 17F #1119 M —TH 2% 6 =
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fit 7489517 #120 M4 —TH 2 %F 39 =2
it 7489517 H121 M —TH 2% 2 2
148951 % 22 Mr®RE—TH 2% 3 =
48951 % H123 M4 —TH 1% 16 =
it 748951 % 124 M4 —TH 1% 15 22
i 748951 % 125 M4 —TH 1% 14 2
748951 % H126 M4 —TH 1% 13 2
fit 748951 & #1127 M —TH 1 %F 12 =
it 7489517 H128 M —TH 1% 11 =
it 7489517 #129 M —TH 1% 10 =
it 7489517 H130 MrRE—TH 1 & 7 2
748951 H1D 30 M —TH 1% 7 =
45951 % 131 M —TH 1% 5 =
748951 % #133 M4 —TH 1% 3 =
7481482 i1 M40 —TH 4 %F 20 2
fiF7-481482%F 12 M0 —TH 4 %F 19 2
1481482 13 M4 —TH 4 % 18 =
it 14814825 Hh4 M4 —TH 4% 17 =
it 1-48%1482%F 15 M4 —TH 4 % 16 =2
fit1-481482% Hi6 M4 —TH 4% 15 =2
M T481729% 12 MFREMNTHE 10 & 24 =
7481 729% 13 M8 TR 10 & 25 2
f7-481729% Hh4 M40 T H 10 & 26 2
HT-481729% 7 MFEENTHE 10 & 32 5
7481729512 MFFARPEDU T H 10 & 10 5
fit7481729% 113 MFFEPEIU T H 10 & 11 =2
it 7481729% 14 MFFARPEDN T H 10 & 12 =2
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fiFF4R1729% 115 MrEENTE 11 & 36 2
4817297 H#120 MmN TH 11 & 3 2
Mr481729% 121 MU T H 11 & 24 =
1481729 Hh22 M40 T H 11 3% 25 =
fiF 11817297 1123 MEWEMTH 11 & 19 2
fiF1-181729% #h24 M4SN TH 11 & 18 2
it 1-181729% 1125 MR TH 11 % 15 2
fit 7-481729% 126 MAEINTH 11 & 30 =
4817298 27 MrEEIUTE 11 & 27 2
it 7-481729% #128 M8 T H 11 % 35 =
MFF181729% 1129 MAERENTH 11 % 34 2
fF1-181729% #130 M40 TH 10 & 16 2
MHFAR1729% 1131 MrEENTE 10 & 13 2
fiF 11817297 1132 M4SN T H 10 & 18 =
fiF1-181729% 1133 MMM TH 10 & 20 2
fit1-181729% 34 M4SN T H 10 & 22 =
it 1-481729% 1135 MR T H 10 & 24 =
it 1481729% 137 MRl TH 7% 4 =2
it 7-481729% #1338 M48mEmETH 7% 5 =
it 7-481729% #1139 M8mEmETH 7% 6 =
M 1-181729% #h4 1 M4 TH 7 % 8 =
748172971143 MPEENTE 6 & 13 2
fiF1-181729% #ha4 M4SN TH 6 & 16 2
48172975 #145 MEWEMTH 6 & 6 =
it 1-181729% 46 MRmEMTH 6 & 7 =
it 7481729% #h47 MEmEmETH 6 & 8 =2
fit 7-481729% #h48 MEmEMTH 5 & 14 =
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MF451729% #1150 M8l TH 5 &F 17 =2
481729750 MrRmINTH 5 F 17 2
1481 729% 151 M4 TH 5 % 6 2
7481 729% H153 48N TH 5 % 8 2
fiF1-181729% 54 MEEMTH 5 & 9 2
fiF1-181729% #155 MEWEMTHE 4 & 17 2
it 1-481729% 156 MEWEMTH 4 %F 19 2
4817295 157 MM TH 4 &F 20 =
it 7-481729% #1159 MEmEMTH 4 &F 22 =
it 7-481729% #160 MRmEIETH 4 % 9 =
M1181729% 161 MrERENTH 4 % 10 2
74817295 H16 2 M4 TH 4 F 11 =
4817297163 MHEENTHE 4 F 12 2
74817297 164 M4EmEMTHE 3 & 18 =
fiF1181729% 1165 MEmEMTHE 3 & 19 2
MF481729% #1168 M8 TH 3 &F 23 =2
fit1481729% 1169 M8 TH 3 & 8 =2
it 1-481729% #1170 M48mEmETH 3 & 9 =2
M T481729% 1171 M8mmETH 3 &F 21 =
it 74817295 H173 M8mEmETH 3 & 14 =
MF1-181729% #1175 M4 TR 2 & 18 2
7481 729%F 176 M4SN TH 2 & 20 2
M 181729% 77 MRl THE 2 & 21 2
4817295 #1178 MmN THE 2 & 22 =
it 7-481729% #1179 MRl TH 2 & 8 =
it 7-481729% #189 MEmEmETH 7 &F 12 =
it 7-481729%& #190 MEmEmETH 7 & 26 =
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it 1481729% #1192 M4SN TH 2 & 16 =
48172971193 MrRmNTH 2 %/ 17 2
481 729% #1195 M4 TH 2 % 9 2
fHFAR1729% 1197 MrEENTE 3 & 22 =
fiF 11817297 1198 MmN THE 3 & 11 2
748172975 #1104 M4SN TH 10 & 30 2
481729 #1106 MR T H 11 & 41 2
MF481729% #1107 MM TH 7% 7 =
1817295 #1109 M4 TH 11 F 20 =
481 729% #1110 MMM TH 3 %F 13 7
MR 1729% 111 HET45PEU TH 6 & 14 =)
MFAR1729% 112 M4SN THE 7% 24 =2
MFAR1729% 115 M4SN TH 7% 11 =
HF481729% #1117 MTEINTE 7% 9 =
4817297 #1120 MEmEMTH 7 % 15 2
*ﬁ;‘f RIT208M1120(103 Loy 7 & 15 - 103 &
=2
M481729% #1127 M4 TH 7 % 18 =
fF 48173432 MFRmEMUTHE 11 F 11 E=
4817347 13 MrEEUTE 11 & 13 2
fiF 14817343 4 MrRmEINTH 2 3% 2 2
HE7481734% 15 M4 TH 2 % 3 2
AF 74817342 16 HrEENTHE 2 F 4 22
MET4817343% 7 MEmEMTHE 2 % 5 2
MFF-4817347% 18 HrRENTH 2 3% 6 22
481734319 MrREMNTH 2 F 23 E52
fit 7-481734% #1110 M4SN TH 2 & 25 =
it 7481734% 111 M4SN TH 2 & 26 =
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fit 7481734512 MR T H 2 & 27 =
it 74817345113 M4 TH 2 & 29 5
4817347814 MRFEmM TR 3 & 32 53
i 1481734% 15 HT4EmEUTH 3% 3 )
it 481734% 16 M4 TH 3% 4 22
748173417 M4 TH 3% 5 2
748173475118 Mr4EMNTH 3% 6 2
it 7-481734% 1119 M4 T H 3 & 24 =
fit 74817345 #h20 MU TH 3 %F 25 =
fit7481734% 21 MEFARPEN T H 3 & 27 =
it 74817345 1123 A& T 3 & 29 2
it 7481 734% #h24 MrEREMNTH 4 % 30 =
1481 734%H126 HT4EEUTH 4% 5 3
fF1-181734% 127 M4REMNTH 4% 6 =2
748173475 #h28 Mr4EMTH 4% 7 2
it 14817343 1130 MU T H 4 3% 25 =
it 74817345 #1311 MFAREU T H 4 % 26 =2
it 74817345 #133 MFARPEN T H 5 & 26 =
it 74817345 134 MU TH 5 & 2 =2
it 74817345 #135 MU TH 5 & 3 =2
7481734 % 136 MFREMTHE 5 &% 4 2
fHF4R1734% 1037 M8 TH 5 & 18 2
it 74817345 1138 M40 TH 5 F 20 2
it 14817343 1140 M40 TH 5 % 25 =
74817345 41 MEEUTH 6 & 1 =
it FR1734% 41 (2%5) |MFRENTHE 6 & 1 - 2%
firFR1734% 141 (3%5) M+ REMTH 6 &% 1 - 3%
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748173478 Hha 2 HMP&SmENTH 6 & 3 =
748173478 43 HMP&mENTE 6 & 4 5
7481734 % Hia4 SN TH 6 %/ 5 =2
7481734 % Hi45 M TH 6 & 17 2
HT481 7347146 HTESEIUTH 6 % 19 =
fiF1-181734% 147 M7 TH 6 & 20 =
74817347 1148 HTSHEIUTE 6 % 21 A
HET-4817347%H150 HTSENTE 1% 11 A
74817347 151 MPASEINTH 1 & 13 7
HETAR1 734752 M-S TH 1 & 15 =
HE7-481734% 53 MmN TE 2 & 24 A
HF481734% 157 RN TE 4 & 3 =4
7481734 % H158 MM THE 3% 2 2
7481734 %159 HT4SmEMTHE 1 & 14 2
HFF-481734% 160 HTEEUTHE 1/ 12 b
74817345 1163 Hrsm—-TH 3% 1 B
HE7481734% 165 M7PEE—TH 3 & 10 o
HE7481734% 166 M7PEE—TH 3% 9 B
M7 481734% 67 M7RE—TH 3 & 8 =
748173475 1168 MPSEITH 5 & 22 7
HE 74817345169 MTEENTE 2 & 1 =
74817353 M —TH 3% 15 2
HE 748173635 1 MT7PRE—TH 3 % 13 =
HE 74817427 113 M7 =TH 10 & 13 =
148174235 4 MR =TH 11 & 7 =
M7 481742 115 M7PRE=THE 11 & 6 =
HE7481742% 116 MPERE=THE 11 & 5 =
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M7 481742 H17 MPRE=TH 11 & 4 =
HE74817423%H19 MPRE=TH 12 &% 4 =
H481742%H110 HTESE=TH 12 & 3 =3
HFR1742% 11 HTEE=TH 12 & 19 =3
748174271113 M8 =TH 12 % 3 2
fiF181742% 114 MTPRE=TH 12 & 14 =
7481742815 HTEE=TH 12 & 13 b
7481 742% 1116 M8 =TH 15 & 5 2
M7 481742517 M7RE=TH 15 & 3 =
HE7481742% 118 MPRE=TH 15 &% 1 B
M7481742% #0119 MAEE=TH 15 & 14 =
M R1742% 22 MPRE=TH 12 & 11 =
HFIR1742% 1123 HTRE=TH 12 & 7 =X
HFIR1742% 124 HTRE=TH 11 & 2 =3
fihF481742% 27 HTEE=TH 11 & 12 b
fihr-481742% 28 HrEE=TH 15 & 13 I
M 7481742 #1131 MPRE=TH 15 & 2 o
4817427 #1132 MPSE=TH 12 & 10 =
HETAR1 7427133 S =TH 11 & 10 A
74817458 3 MmN TE 9 & 1 £
HHF481 7457 Hi4 fHTA8EMTH 9 % 33 I
HE 74817455 H6 M7SEMTH 8 & 3 7
74817455 7 M40 TH 8% 5 2
HET4%1745% 9 HFASEITH 9 & 2 1A
HEF481745% 12 MPEENTH 8 & 6 =)
H 74817458 15 MPEmENTE 8 & 9 =
74817455116 HPSEINTH 8 & 12 7
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it 481745517 M4SN TH 8 F 13 =
fiF 48174531118 MrRmITH 8 %F 15 22
it 7-481745%H119 MrRpEMTH 8 & 18 2
1481 745% #1121 48T H 8 % 37 )
it 481 745% #h23 M40 TH 8 F 29 22
it 7481 745% Hh24 M4 TH 8 #F 31 2
it 74817455 25 M4 TH 8 & 33 2
it 74817455 26 ML TH 8 & 34 =
it 74817455 #h27 MM TH 9 F 17 I
it 74817455 #h28 M TH 9 F 20 I
it 481 745% 1130 fitrARE TH 9 F 22 =
481 745% 31 MrERENTH 9 & 23 2
ftF4R1745% 1133 Mr4SEmETH 9 & 25 2
M F481745% 1134 HFREMNTHE 9 F 27 2
74817455 #135 M4 TH 9 %F 28 2
fit 74817455 36 MM TH 9% 5 =
it 4817455 #137 MMM TH 9% 6 =
fit 74817455 #138 MMM TH 9% 7 =
it 74817455 #139 MMM TH 9% 9 =
fiFr481745% 1140 MrRmINTH 9 %F 10 =2
7481 745% 41 ML TH 9 & 11 =
fHF4R1745% 142 MPEENTE 9 & 12 =
7481748 % 12 MR =TH 14 & 35 2
fiE 7481 748% 13 M8 =TH 14 & 33 =
7481 7487 Hhd MrEE=TH 14 & 37 =
1481757 3 MR =TH 8 F 12 =
1481757 % Hh4 M =TH 8 F 13 =
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1481757 19 MFERE=TH 10 & 7 =
it 7481757510 M =TH 8 & 14 5
7481757/ 11 MrRE=TH 8 & 15 2
MFAR1757 %/ 12 Ml =TH 8 & 17 2
f7-481760% 4 M =TH 14 F 31 22
fT-481760% 15 MrRE=TH 14 & 30 2
fT-481760F 7 MrRE=TH 14 & 28 2
i 7-481760%F 18 MU =TH 14 & 27 =
it 7481760 H19 MFERE=TH 14 & 26 =
it 74817605112 MFEE=TH 14 % 23 =
748176078113 MFRE=TH 14 & 22 =
i 481760% 14 M =TH 14 & 21 =
481 760% 16 M =TH 14 F 19 =
74817615 H12 M40 =TH 10 & 23 =
74817615 3 MR =TH 10 & 22 2
it 148176 1% H6 MR =TH 10 & 19 =
fF1-481761% 7 MFERE=TH 10 % 18 =2
it 14817615 18 MAERE=TH 10 & 14 =
1481761 % H19 M40 =TH 13 F 9 =
fit 74817615110 M =TH 13 & 8 =2
48 1761% 11 MFRE=TH 13 & 5 =
it 7481761% #0112 T =TH 13 & 4 =
74817615113 MR =TH 13 F 22 2
i 7481761%K 115 M40 =TH 10 & 26 =
7481761516 MFEE=TH 10 & 30 5
it 7481761% 17 MFEE=TH 10 %# 28 =2
fit 74817615 #120 MFEE=TH 13 & 17 =2
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fit7481761% 21 MR =TH 13 & 16 =2
it 48176 1F D21 MrEE=TH 13 % 16 5
148176 1% #125 MFRE=TH 14 % 10 =
748176 1% 126 MR =TH 14 F 9 =
i 481761%& 27 MR =TH 14 & 8 22
it 74817615 28 MU =TH 14 F 7 2
7481761 #130 MrRE=TH 14 & 5 2
74817615131 MR =TH 14 & 25 =
fit 7481761 #135 MU =TH 14 & 11 =
it 748176 15K 136 MAEE=TH 13 & 2 =
it 7481761 % 1138 MFRE=TH 13 & 19 2
748176121139 M =TH 13 & 18 2
i 7481761% #0143 M =TH 14 F 13 =
74817615 Hh44 MR =TH 14 & 18 =
74817615 45 MR =TH 14 F 17 2
it 74817615 #149 MR =TH 10 & 17 =
it 1-481764%F Hh2 M =TH 9% 1 =
fit 7481764511 M =TH 9 & 8 =
it 74817645113 MR =TH 9 & 10 =2
it 74817645114 MR =TH 9 & 11 =2
fH1481764% 115 MFRE=TH 9 & 12 =
- 74%1764% 116 M =TH 9 & 5 2
7481764517 MU =TH 9 &% 4 2
fit7-181764% 1118 MR =TH 9% 3 =
it 148176451119 MR =TH 9 & 2 =
it 1481768 % 16 MFEE=TH 14 & 2 =
it 1-481768%F M7 MFEE=TH 14 & 3 =
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HE1-481768%F 18 M =TH 14 F 1 =
4817705 H13 M =TH 10 F 6 =
14817705 6 M4 =TH 10 & 4 2
M8 1770% M7 48 =TH 10 & 5 =
481 772% 1 48 =TH 6 & 3 2
MTA481772% 13 M-S =TH 5 & 35 2
MT481772% 4 M8 =TH 5 & 39 =
MT481773% 1 TS =TH 6 & 8 =
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